



**INTERNATIONAL JOURNAL OF ENGINEERING SCIENCES & RESEARCH
TECHNOLOGY**

AN EXCLUSIVE TRANSCENDENTAL EQUATION

$$\sqrt[3]{X^2 + Y^2} + \sqrt[3]{Z^2 + W^2} = (k^2 + 1)R^2$$

V.Pandichelvi

Department of Mathematics, Cauvery College for women, Trichy, India.

pandichelvi75@yahoo.com

Abstract

The transcendental equation $\sqrt[3]{X^2 + Y^2} + \sqrt[3]{Z^2 + W^2} = (k^2 + 1)R^2$ is analyzed for its non trivial-integral solutions. A few interesting relations between the solutions (X, Y, Z, W) , special polygonal numbers and pyramidal numbers are presented.

Keywords: Transcendental equation, integral solutions, polygonal numbers and pyramidal numbers.

AMS Classification Number: 11D 99

Introduction

Diophantine equations are numerously rich because of its variety. In [1-7], the Diophantine equations for which we require integral solutions are algebraic equations with integer co-efficient. In [8-13], six different transcendental equations are studied for its non-trivial integral solutions. In this communication, the transcendental equation represented by $\sqrt[3]{X^2 + Y^2} + \sqrt[3]{Z^2 + W^2} = (k^2 + 1)R^2$ is analyzed for its non trivial-integral solutions. A few interesting relations between the solutions (X, Y, Z, W) , special polygonal numbers and pyramidal numbers are presented.

Notations

Polygonal numbers	Notations for rank n	Definitions
Gnomonic	Gno_n	$2n - 1$
Hexagonal	Hex_n	$n(2n - 1)$
Stella Octangula	SO_n	$n(2n^2 - 1)$
Octahedral	OH_n	$\frac{1}{3}n(2n^2 + 1)$
Rhombic dodecagonal	RD_n	$(2n - 1)(2n^2 - 2n + 1)$
Pentagonal pyramidal	PP_n	$\frac{1}{2}n^2(n + 1)$
Pronic	$Pr o_n$	$n(n + 1)$
Centered Square	CS_n	$2n^2 - 2n + 1$
Triangular	T_n	$\frac{n(n + 1)}{2}$

Tetrahedral	TH_n	$\frac{1}{6}n(n+1)(n+2)$
Centered m-gonal	$CT_{m,n}$	$\frac{m[n(n+1)+2]}{2}$
Decagonal	Dec_n	$n(4n-3)$

Explicit formulas for the above m-gonal numbers may be found in [14-16].

Method of Analysis

The transcendental equation to be solved is

$$\sqrt[3]{X^2 + Y^2} + \sqrt[3]{Z^2 + W^2} = (k^2 + 1)R^2 \tag{1} \text{ where}$$

$$k \neq \{0\}$$

Taking

$$\rho^3 = X^2 + Y^2 \tag{2}$$

The values of X and Y satisfying (2) are offered by

$$X = m(m^2 + n^2) \tag{3}$$

$$Y = n(m^2 + n^2) \tag{4}$$

Similarly, by choosing

$$\tau^3 = Z^2 + W^2$$

the values of Z and W satisfying the above cubic equation are stated by

$$Z = m(m^2 - 3n^2) \tag{5}$$

$$W = n(n^2 - 3m^2) \tag{6}$$

On substituting (3),(4),(5) and (6) in (1),we obtain

$$2(m^2 + n^2) = (k^2 + 1)R^2 \tag{7}$$

Set

$$R = a^2 + b^2$$

Applying unique factorization method, (7) can be written as

$$(1+i)(1-i)(m+ni)(m-ni) = (k+i)(k-i)(a^2 - b^2 + 2abi)(a^2 - b^2 - 2abi)$$

Thus,

$$(1+i)(m+ni) = (k+i)(a^2 - b^2 + 2abi)$$

Equating real and imaginary parts, we search out

$$m + n = k(a^2 - b^2 + 2kab)$$

$$m - n = k(a^2 - b^2 - 2kab)$$

Solving the above two equations, we grasp

$$m = \frac{1}{2} [k(a^2 - b^2 + 2ab) + a^2 - b^2 - 2ab] \quad (8)$$

$$n = \frac{1}{2} [k(2ab - a^2 + b^2) + a^2 - b^2 + 2ab] \quad (9)$$

Here, the non-trivial integral solutions to (1) are analyzed when k is odd and k is even.

Case (i)

Consider $k = 2\alpha + 1$

This choice leads (8) and (9) to

$$m = \alpha(a^2 - b^2 + 2ab) + a^2 - b^2 \quad (10)$$

$$n = \alpha(2ab - a^2 + b^2) + 2ab \quad (11)$$

Substituting (10) and (11) in (3),(4),(5) and (6), the non-zero integral solutions to (1) are symbolized by

$$X = [\alpha(a^2 - b^2 + 2ab) + a^2 - b^2] (a^2 + b^2)^2 (2\alpha^2 + 2\alpha + 1)$$

$$Y = [\alpha(2ab - a^2 + b^2) + 2ab] (a^2 + b^2)^2 (2\alpha^2 + 2\alpha + 1)$$

$$Z = -2\alpha^3(a^6 - 6a^5b - 15a^4b^2 + 20a^3b^3 + 15a^2b^4 - 6ab^5 - b^6) + \\ 3\alpha(a^6 + 6a^5b - 15a^4b^2 - 20a^3b^3 + 15a^2b^4 + 6ab^5 - b^6) + \\ 12\alpha^2(3a^5b - 10a^3b^3 + 3ab^5) + (a^6 - 15a^4b^2 + 15a^2b^4 - b^6)$$

$$W = 2\alpha^3(a^6 + 6a^5b - 15a^4b^2 - 20a^3b^3 + 15a^2b^4 + 6ab^5 - b^6) + \\ 3\alpha(a^6 - 6a^5b - 15a^4b^2 + 20a^3b^3 + 15a^2b^4 - 6ab^5 - b^6) + \\ 6\alpha^2(a^6 - 15a^4b^2 + 15a^2b^4 - b^6) + (-6a^5b + 20a^3b^3 - 6ab^5)$$

To find the relations among the solutions, we consider the choice $a = b$

Hence,

$$X = 8a^6(2\alpha^3 + 2\alpha^2 + \alpha)$$

$$Y = 8a^6(\alpha + 1)(2\alpha^2 + 2\alpha + 1)$$

$$Z = -8a^6(2\alpha^3 + 6\alpha^2 + 3\alpha)$$

$$W = -8a^6(2\alpha^3 - 3\alpha - 1)$$

A few interesting relations among the solutions are expressed below:

1. $\frac{Y - X}{8a^6} = CT_{4,\alpha}$
2. $\frac{X}{8a^6} - 12TH_\alpha + 10Dec_\alpha \equiv 0 \pmod{6}$
3. $\frac{X + Y}{8a^6} = PP_{2\alpha} + 8T_\alpha + 1$
4. $X + W = 8a^6(4T_\alpha + Gno_{\alpha+1})$
5. $W + 8a^6(SO_\alpha + Gno_{\alpha+1}) = 0$
6. $Z + 8a^6(2PP_\alpha + 6T_\alpha) - 8\alpha^2 a^6 = 0$
7. $X + Y + Z + W = 16a^6 Gno_{\alpha+1}$
8. Each of the following expressions provides a nasty number
 - (i) $3(2X + Z + W + 16a^6 Pr o_{\alpha-1})$
 - (ii) $3(X - 24a^6 OH_\alpha)$
 - (iii) $3(\alpha + 1)[Y - 8a^6(4PP_\alpha + CS_\alpha)]$

Case (ii)

Choosing $k = 2\alpha$ in (8) and (9), it reduces to

$$m = \left[\alpha(a^2 - b^2 + 2ab) + \frac{a^2 - b^2 - 2ab}{2} \right]$$

$$n = \left[\alpha(2ab - a^2 + b^2) + \frac{a^2 - b^2 + 2ab}{2} \right]$$

Since our interest centers on finding integral solution, we observe that m and n are integers for $a = 2A$ and $b = 2B$

Thus,

$$m = 4\alpha(A^2 - B^2 + 2AB) + 2(A^2 - B^2 - 2AB)$$

$$n = 4\alpha(2AB - A^2 + B^2) + 2(A^2 - B^2 + 2AB)$$

In view of (3),(4),(5) and (5),the non-zero integer solutions fulfilling (1) are exhibited by

$$X = 8\left[4\alpha(A^2 - B^2 + 2AB) + 2(A^2 - B^2 - 2AB)\right](A^2 + B^2)(4\alpha^2 + 1)$$

$$Y = 8\left[4\alpha(2AB - A^2 + B^2) + 2(A^2 - B^2 + 2AB)\right](A^2 + B^2)(4\alpha^2 + 1)$$

$$Z = \left[4\alpha(A^2 - B^2 + 2AB) + 2(A^2 - B^2 - 2AB)\right] \times \\ \left\{4(4\alpha^2 - 3)(A^2 - B^2 + 2AB)^2 - 4(12\alpha^2 + 1)(A^2 - B^2 - 2AB)^2 + \right. \\ \left. 64\alpha\left[(A^2 - B^2)^2 - 4A^2B^2\right]\right\}$$

$$W = \left[4\alpha(2AB - A^2 + B^2) + 2(A^2 - B^2 + 2AB)\right] \times \\ \left\{4(4\alpha^2 - 3)(A^2 - B^2 - 2AB)^2 - 4(12\alpha^2 + 1)(A^2 - B^2 + 2AB)^2 - \right. \\ \left. 64\alpha\left[(A^2 - B^2)^2 - 4A^2B^2\right]\right\}$$

To obtain some properties between the solutions we select $A = B$

Thus,

$$X = 128A^6(8\alpha^3 - 4\alpha^2 + 2\alpha - 1)$$

$$Y = 128A^6(8\alpha^3 + 4\alpha^2 + 2\alpha + 1)$$

$$Z = -128A^6(2\alpha - 1)(4\alpha^2 + 8\alpha + 1)$$

$$W = -128A^6(2\alpha + 1)(4\alpha^2 - 8\alpha + 1)$$

A few relations among the solutions are furnished below:

1. $X = 128A^6(RD_\alpha + 4T_\alpha \times Gno_\alpha)$
2. $Y = 128A^6(RD_{\alpha+1} + 4T_{\alpha-1} \times Gno_{\alpha+1})$
3. $Y = 128A^6(2PP_{2\alpha} + Gno_{\alpha+1})$
4. $X + Z + 1024A^6Hex_\alpha = 0$
5. $Y + W = 1024A^6Hex_{\alpha+1} - 1024Gno_{\alpha+1}$
6. Each of the following expressions characterizes a nasty number

$$(i) X + Y - 128A^6(3OH_{2\alpha} + Gno_\alpha)$$

$$(ii) 6 \frac{X + Z}{(8T_{\alpha} + 1)Gno_{\alpha}}$$

References

- [1] Bhatia, B.L. and Supriya Mohanty., *Nasty numbers and their Characterizations*, *Mathematical Education*, July- September 1985, 34-37.
- [2] Dickson, L.E., *History of the theory numbers*, Diophantine Analysis, Vol.2, New York: Dover, 2005.
- [3] Lang,S.,*Algebraic Number Theory*, Second ed.New York:Chelsea,1999.
- [4] Mordell,L.J., *Diophantine equations*, Academic Press, New York 1969.
- [5] Nagell,T.,*Introduction to Number theory*, Chelsea Publishing Company, New York, 1981.
- [6] Oistein Ore.,*Number theory and its History*, New York : Dover,1988.
- [7] Weyl,H.,*Algebraic theory of numbers*,Princeton,NJ:Princeton UniversityPress,1998.
- [8] Gopalan.M.A. and Devibala.S, *A Remarkable transcendental equation*, *Antartica J.Math* , **3(2)**(2006),209-215.
- [9] Gopalan.M.A and Pandichelvi.V, *A Special Transcendental equation* $z = \sqrt[3]{x + \alpha y} + \sqrt[3]{x - \alpha y}$, *Pure and Applied Mathematical Sciences*. (Accepted for Publications) (2008).
- [10] Gopalan.M.A. and Pandichelvi.V.,*On transcendental equation* $z = \sqrt[3]{x + \sqrt{B}y} + \sqrt[3]{x - \sqrt{B}y}$, *Antartica J.Maths*,**6(1)**(2009),55-58.
- [11] Gopalan.M.A. ,Shanmuganantham.P and S.Sriram.,*On transcendental equation* $z = \sqrt{x + \sqrt{B}y} + \sqrt{x - \sqrt{B}y}$, *Antartica J.Maths*,**7(5)**(2010),509-515.
- [12] Gopalan.M.A. and Kaligarani.J., *On transcendental equation* $x + \sqrt{x} + y + \sqrt{y} = z + \sqrt{z}$, *Diophantus Journal of Mathematics*,**1(1)**(2012),9-14.
- [13] Gopalan.M.A and Pandichelvi.V, *Observations on the Transcendental Equation* $z = \sqrt[2]{x} + \sqrt[3]{kx + y^2}$, *Diophantus Journal of Mathematics*,**1(2)**(2012),59-68.
- [14] David Wells.,*The Penguin Dictionary of Curious and interesting numbers*, Penguin Books,1997.
- [15] John,H.Conway and Richard K.Guy,*The Book of Numbers*, Springer Verlag,New York, 1995.
- [16] Kapur, J.N.,*Ramanujan's Miracles*, Mathematical Sciences Trust Society,1997.